
Tables from Section 5
The case A1 = A1[00] or A1 = A1[11]

Table 1: Exts,tA(2)(A1 ∧DA1)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 152 71 15 155 190 39 392 191 39 395
70 15 151 71 15 154 190 39 391 191 39 394

71 15 153 191 39 393
70 14 1425 71 14 1429 190 38 3825 191 38 3828
70 14 1424 71 14 1428 190 38 3824 191 38 3827
70 14 1423 71 14 1427 190 38 3823 191 38 3826
70 14 1422 71 14 1426 190 38 3822
70 14 1421 190 38 3821
70 13 1346 71 13 1353 190 37 3742 191 37 3747
70 13 1345 71 13 1352 190 37 3741 191 37 3746
70 13 1344 71 13 1351 190 37 3740 191 37 3745
70 13 1343 71 13 1350 190 37 3739 191 37 3744
70 13 1342 71 13 1349 190 37 3738 191 37 3743

71 13 1348
71 13 1347

190 36 3663 191 36 3666
190 36 3662 191 36 3665
190 36 3661 191 36 3664
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n i1, . . . , in x g6x v202 h1x
0 0 155 395 3669
0 0 154 394 3668
0 0 153 393 3667
0 0 152 392 3666
0 0 151 391 3665
0 0 1429 0 0
0 0 1428 3828 3592
0 0 1427 3827 3591
0 0 1426 3826 3590
0 0 1425 3825 3589
0 0 1424 3824 3588
0 0 1423 3823 3587
0 0 1422 3822 3586
0 0 1421 3821 3585
0 0 1353 0 0
0 0 1352 0 0
0 0 1351 3744 34108
0 0 1350 3743 34107
0 0 1349 3743 + 3745 34107 + 34109
0 0 1348 3745 + 3746 + 3747 34109 + 34110 + 34111
0 0 1347 3743 + 3745 + 3746 34107 + 34109 + 34110
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Table 2: Exts−1,t−8
A(2) (A1 ∧DA1 ∧ bo1)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 1211 71 13 1219 190 37 3611 191 37 3619
70 13 1210 71 13 1218 190 37 3610 191 37 3618
70 13 129 71 13 1217 190 37 369 191 37 3617
70 13 128 71 13 1216 190 37 368 191 37 3616
70 13 127 71 13 1215 190 37 367 191 37 3615
70 13 126 71 13 1214 190 37 366 191 37 3614

71 13 1213 191 37 3613
71 13 1212 191 37 3612

70 12 1140 71 12 1146 190 36 191 36 3533
70 12 1139 71 12 1145 191 36 3532
70 12 1138 71 12 1144
70 12 1137 71 12 1143
70 12 1136 71 12 1142
70 12 1135 71 12 1141
70 12 1134

n i1, . . . , in x g6x v202 h1x
1 1 1219 3619 3383
1 1 1218 3618 3382
1 1 1217 3617 3379 + 3383
1 1 1216 3616 3379 + 3381
1 1 1215 3615 3380
1 1 1214 3614 3378 + 3379 + 3381 + 3383
1 1 1213 3613 3377
1 1 1212 3612 3376 + 3383
1 1 1146 0 0
1 1 1145 0 0
1 1 1144 0 0
1 1 1143 3533 3297
1 1 1142 3532 3296
1 1 1141 0 0
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Table 3: Exts−1,t−16
A(2) (A1 ∧DA1 ∧ bo2)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 71 13 190 37 191 37
70 12 71 12 190 36 191 36

Table 4: Exts−2,t−16
A(2) (A1 ∧DA1 ∧ bo1 ∧ bo1)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 71 13 190 37 191 37
70 12 105 71 12 1011 190 36 345 191 36 3411
70 12 104 71 12 1010 190 36 344 191 36 3410
70 12 103 71 12 109 190 36 343 191 36 349
70 12 102 71 12 108 190 36 342 191 36 348

71 12 107 191 36 347
71 12 106 191 36 346

n i1, . . . , in x g6x v202 h1x
2 1, 1 1011 3411 31139
2 1, 1 1010 3410 31138
2 1, 1 109 349 31137
2 1, 1 108 348 31136
2 1, 1 107 347 31135
2 1, 1 106 346 31134 + 31137 + 31138
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Table 5: Exts,tA(2)(A1 ∧DA1)

t− s s sg t− s s sg t− s s sg

95 20 202 143 28 2834 191 36 3666
95 20 201 143 28 2833 191 36 3665

143 28 2832 191 36 3664

x b43,0 · x e0r · x b83,0 · x wgr · x
2834 3666 0 N/A N/A
2833 3665 0 N/A N/A
2832 3664 3825 N/A N/A
202 2834 N/A 3666 392
201 2833 N/A 3665 391
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The case A1 = A1[01]

Table 6: Exts,tA(2)(A1 ∧DA1)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 150 190 39 191 39 390
70 14 1418 71 14 1420 190 38 3818 191 38 3819
70 14 1417 71 14 1419 190 38 3817
70 14 1416 190 38 3816
70 14 1415 190 38 3815
70 13 1333 71 13 1340 190 37 3724 191 37 3729
70 13 1332 71 13 1339 190 37 3723 191 37 3728
70 13 1331 71 13 1338 190 37 3722 191 37 3727
70 13 1330 71 13 1337 190 37 3721 191 37 3726
70 13 1329 71 13 1336 191 37 3725

71 13 1335
71 13 1334

70 12 71 12 190 36 191 36

x g6x v202 h1x
150 390 3640
1420 0 0
1419 3819 3559
1418 3818 3558
1417 3817 3557 + 3558
1416 3816 3556
1415 3815 3555 + 3558
1340 0 0
1339 0 0
1338 3729 3469
1337 3728 3468
1336 3727 3467 + 3468
1335 3726 3466 + 3467 + 3469
1334 3725 3465 + 3466
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Table 7: Exts−1,t−8
A(2) (A1 ∧DA1 ∧ bo1)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 129 71 13 1217 190 37 369 191 37 3617
70 13 128 71 13 1216 190 37 368 191 37 3616
70 13 127 71 13 1215 190 37 367 191 37 3615
70 13 126 71 13 1214 190 37 366 191 37 3614
70 13 125 71 13 1213 190 37 365 191 37 3613
70 13 124 71 13 1212 190 37 364 191 37 3612

71 13 1211 191 37 3611
71 13 1210 191 37 3610

70 12 1136 71 12 1142 190 36 191 36
70 12 1135 71 12 1141
70 12 1134 71 12 1140
70 12 1133 71 12 1139
70 12 1132 71 12 1138
70 12 1131 71 12 1137
70 12 1130

x g6x v202 h1x
1217 3617 3373
1216 3616 3372 + 3373
1215 3615 3371
1214 3614 3370 + 3371
1213 3613 3369 + 3371 + 3372 + 3373
1212 3612 3368 + 3369 + 3371 + 3372 + 3373
1211 3611 3367 + 3368 + 3369 + 3372
1210 3610 3366 + 3372

Table 8: Exts−1,t−16
A(2) (A1 ∧DA1 ∧ bo2)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 71 13 190 37 191 37
70 12 71 12 190 36 191 36
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Table 9: Exts−2,t−16
A(2) (A1 ∧DA1 ∧ bo1 ∧ bo1)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 71 13 190 37 191 37
70 12 71 12 101 190 36 191 36 341

71 12 100 191 36 340

x g6x v202 h1x
101 341 3181
100 340 3180
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The case A1 = A1[10]

Table 10: Exts,tA(2)(A1 ∧DA1)

t− s s sg t− s s sg t− s s sg t− s s sg

71 15 150 191 39 390
70 14 1418 71 14 1420 190 38 3818 191 38 3819
70 14 1417 71 14 1419 190 38 3817
70 14 1416 190 38 3816
70 14 1415 190 38 3815
70 13 1334 71 13 1341 190 37 3724 191 37 3729
70 13 1333 71 13 1340 190 37 3723 191 37 3728
70 13 1332 71 13 1339 190 37 3722 191 37 3727
70 13 1331 71 13 1338 190 37 3721 191 37 3726
70 13 1330 71 13 1337 191 37 3725

71 13 1336
71 13 1335

x g6x v202 h1x
150 390 3640
1420 0 0
1419 3819 3559
1341 0 0
1340 0 0
1339 3729 3469
1338 3728 3468
1337 3727 3467
1336 3726 3466
1335 3725 3465
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Table 11: Exts−1,t−8
A(2) (A1 ∧DA1 ∧ bo1)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 129 71 13 1217 190 37 369 191 37 3617
70 13 128 71 13 1216 190 37 368 191 37 3616
70 13 127 71 13 1215 190 37 367 191 37 3615
70 13 126 71 13 1214 190 37 366 191 37 3614
70 13 125 71 13 1213 190 37 365 191 37 3613
70 13 124 71 13 1212 190 37 364 191 37 3612

71 13 1211 191 37 3611
71 13 1210 191 37 3610

70 12 1139 71 12 1145 190 36 191 36
70 12 1138 71 12 1144
70 12 1137 71 12 1143
70 12 1136 71 12 1142
70 12 1135 71 12 1141
70 12 1134 71 12 1140
70 12 1133

x g6x v202 h1x
1217 3617 3373
1216 3616 3372
1215 3615 3371
1214 3614 3370
1213 3613 3369
1212 3612 3368 + 3373
1211 3611 3367 + 3373
1210 3610 3366 + 3371 + 3372

Table 12: Exts−1,t−16
A(2) (A1 ∧DA1 ∧ bo2)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 71 13 190 37 191 37
70 12 71 12 190 36 191 36
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Table 13: Exts−2,t−16
A(2) (A1 ∧DA1 ∧ bo1 ∧ bo1)

t− s s sg t− s s sg t− s s sg t− s s sg

70 15 71 15 190 39 191 39
70 14 71 14 190 38 191 38
70 13 71 13 190 37 191 37
70 12 71 12 101 190 36 191 36 341

71 12 100 191 36 340

x g6x v202 h1x
101 341 3181
100 340 3180
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